CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.
, Nick McNew	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	RAL CANDIDATE E OR LOCAL CANDIDATE
- SIAII	E OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED
Candidate name:	
Nick McNew	
Authorized committee:	
Agency requesting time (and contact information):	
✓ N/A	
Candidate's political party:	
Non Partisn	
Office sought (no acronyms or abbreviations):	
North Platte City Council Ward 4	
Date of election: 05/14/2024	General Primary
Treasurer of candidate's authorized committee:	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):
the candidate listed above who is a legally qualified car	ndidate, or
the authorized committee of the legally qualified candi	date listed above;
(2) this station is authorized to announce the time as paid for b	y such person or entity; and
(3) this station has disclosed its political advertising policies, included and other sales practices (not applicable to federal candidates).	
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature! MCMUM	Signature:
Name: Nick McNew	Name: Lewys Carlini
Date of Request to Purchase Ad Time: 03/15/2024	Date of Station Agreement to Sell Time: 3 - 18-2024

padcast matter to be aired pursuant to ntains a clearly identifiable photograph imultaneously displayed printed staten nat the candidate and/or the candidate a personal audio statement by the cand te has approved the broadcast.	nent identifying the candidate, that 's authorized committee paid for the
ncy	
w	
COMPLETED BY STATION OF	VLY
No Date ad received:	3-15-2024
or each version of the ad (i.e., for e	every ad with differing copy).
): Yes No	N/A
yet received to determine sponsor ID) tly upload updated final form when co	
unicient sponsor in tagj.	
ition Call Letters: (ELN, KOOQ, KZTL	Date Received/Requested: 3-15-2024
ntion Location: North Plate, NE.	Run Start and End Dates: 3-25-2024 + hru 5-14-2024
purchased, when spots actually aired, not upload the actual times spots aired	reflecting this transaction to the OPIF or the rates charged and the classes of time d until an invoice is generated, the name d in the "Terms and Disclosures" folder in
	entains a clearly identifiable photograph imultaneously displayed printed statement the candidate and/or the candidate apersonal audio statement by the candidate are has approved the broadcast. Incy COMPLETED BY STATION ON

Date: 3/18/24

Sales Order

Stations:	KELN-FM, KO	oq-am, Kztl-FM	1	Buyer:	
Contract Na	me: 0312lvcMcNe	ew		Tax Schedule:	(None)
Contract#:			892017093	Agency Commission %: 0	
Start Date:	3/25/24	End Date:	5/14/24	Billing Cycle: Calendar	
Revenue Ty	pe: Political Direc	t	Type: Cash	Salesperson:	
Advertiser:	NICK McNEW	for CITY COUNC	IL	Makegood Policy: Within Contrac	ot Dates
Address:	Attn: Nick McN	ew			
	1601 North Dod	dge Avenue			
City:	North Platte	State: NEZip:	69101		
Product Nar	ne: Ward 4 City C	Council			
Estimate #:	Primary Electio	n			
Competitive	Code: Political Ca	andidate			

KELN-FM

No	DAT	TES	Alt	TIM	/IES	LEN	DISTRIBUTION										TOTALS		DTV
NO	START	END	wks	s START END	END	LEIN	MTW	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY	
1	3/25/24	4/21/24		12:00 AM	12:00 AM	15	Х	Х	Х	Х	Х	Х		12	W	3.00	48	144.00	5
2	3/28/24	3/28/24		12:00 AM	12:00 AM	15				2				2	D	3.00	2	6.00	5
3	4/22/24	5/12/24		5:00 AM	12:00 AM	15	Х	Х	Х	Х	Х	Х	Х	25	W	4.00	75	300.00	4
4	5/13/24	5/13/24		5:00 AM	12:00 AM	15	5							5	D	4.00	5	20.00	4
5	5/14/24	5/14/24		5:00 AM	1:00 PM	15		5						5	D	4.00	5	20.00	4

TOTAL GROSS \$490.00, NET \$490.00

KOOQ-AM

No	DAT	ES	INVENTORY	ORDER	QTY	PRICING	RATE	TOTAL
INO	START	END	TYPE	BY	QIT	STRUCTURE	RAIL	TOTAL
1	4/25/24	4/25/24	NON-SPOT ITEM	Non Spot Item	1	Per Item	\$50.00	\$50.00
New	/ Revised							
Reve	enue Type: f	Political Dire	ect					
Day	oart: M-S 12	:00 AM-12:0	00 AM					

TOTAL SPOT \$0.00 (0 SPOTS), ALTERNATIVE REVENUE \$50.00, GROSS \$50.00, NET \$50.00

KZTL-FM

No	DAT	ΓES	Alt	TIM	1ES	LEN	LEN DISTRIBUTION RATE TOTALS										OTALS	DTV	
INU	START	END	wks	START	END	LEIN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RAIE	SPOTS	\$\$	PTY
1	3/25/24	4/21/24		12:00 AM	12:00 AM	15	Х	Х	Х	Х	Х	Х		12	W	3.00	48	144.00	5
2	3/28/24	3/28/24		12:00 AM	12:00 AM	15				2				2	D	3.00	2	6.00	5
3	4/22/24	5/12/24		5:00 AM	12:00 AM	15	Χ	Х	Х	Х	Х	Х	Χ	22	W	4.00	66	264.00	4
4	5/13/24	5/13/24		5:00 AM	12:00 AM	15	4							4	D	4.00	4	16.00	4
5	5/14/24	5/14/24		5:00 AM	1:00 PM	15		5						5	D	4.00	5	20.00	4

TOTAL GROSS \$450.00, NET \$450.00

Billing Projections: By Month Mar 24 Apr 24 May 24 84.00 CA 514.00 392.00 ST 84.00 454.00 452.00 Print Spot Prices TOTAL SPOTS 260 SPOT TOTAL \$ 940.00 ALTERNATIVE REVENUE TOTAL \$ 50.00 GROSS TOTAL \$ 990.00 ADJUSTED SPOTS 260 ADJUSTED TOTAL \$ 990.00 APPROVE DECLINE General Manager 5312lcar, 03/18/24 @12:54PM National Sales Manager

Local Sales Manager